Gatemate

ABAJO ES LALISTADE
TODO EL ARMAMENTO

Agujeros para 1a Tranca Picaporte:

4-2172" Recubiertos
6-3" Recubiertos

a—o™ g =B 2. " Peros, Tana el Fcagore Y
) 2-1/4" Tuercas
N
@O0==8 fmmhiTe
ﬂ :ap:‘:’yOTomillc
) "
=)
:@4 ) 2-P de Ojo, Tuercas
g : Roudz"l‘gt'r::lﬂ Y
= 2-5/8" x 6" Pernos de Col;
ﬁﬂ Q-Rwdxi?nﬂnn leader
2 - Roadallas de Tt
QOO ) T

Instale el Perno de Colgar de 6"

Si tiene un poste de 6” -0- 8”, uste necesita comprar
un par de pernos de colgadera de 10” llamados
Stock # 6011082

Esas puertas siempre se balancean “para dentro”. Esto es
que siempre seran montadas al lado de atras del pose, para
prevenir “huecos en los lados”, recom endamos encajonar su
postes como en el diagrama ensenado.

TABLAS DE CARA: Como la heramienta de Puerta Chica
siempre se balancean para dentro, las tablas dentro del cerco
se llaman. “Tablas de Cara”, lienen que ser ajustadas primero.
La dara la misma vista que tieme en su casa. (Seran
montadas al lado de atras de la abieratura y se balancea para
el lado de adento tambien).

’\

\ Vistade

— cerco al Frente

3

/
/ — o
—|  Tablas de Cara

I~ al mismo nivel
conlodeatras _| . f
ol del Poste

L —
—]

“Cuadro de Adentro”

|| Tabla de Cara
para cubarir
elriel Y

—

| [ | Nivelar el
Poste del lado
=

de atras

“Cuadro de Afuera” Pl j
N

Paso 1 continuado...

1. Instale una tabla de
N cara a los dos lados de la
dearie i f / abertura de la puerta.

..... o 2 Encuentre el centro en
medio de la barandilla de
' arriba y la barandilla de

abajo y senale en la cara
de la tabla.

3. Mida a la altura de 17
1/2" y mida asi abajo 17

de abajo e

l M/ 1/2" senale.
Banndilla . Nota: Los agujeros estan
' 35" de separado.
:I:I: 4. Mida 1" del lado de

— atras del poste perfore un
agujero 5/8” horizontal

completamente a la tabla

de cara arriba 7 abajo del
poste.

Rondalla Plana

Tuerca de Ajustamento

e

L

Nota: Deje 1/2 ﬁﬁfgéda de rosca
para futuro adjustament.

Localize el lado de BISAGRA del cuadro. (No tiene los
dos agujeros para la tranca picaporte).

Instale el Tornillo de Ojo como Mostrado:

|

Rondalla

Pllm ° Rondalla Plana
OSf=md |o \© (——'Nerca

I :

Tornillos ‘de Ojo

a

Ot

Use los agujeros de 5/16”

N7

© ©

LD.O

Asegure las tuercas
(No las Apriete)

INSTRUCCIONES Y HERRAMIENTA PARA PUERTA CHICA

Colgando el marco y
extendiendo para que
quede a la abertura.

] o b Baje el lado de bisagra
1] y de pernos de ojo
sobre los pernos de

colgadera.

Resbale los do rubos de extension (Deteniendo los
agujeros en posicion vertical).

{ e

Nota: Los tubos de extension’
pueden ser acortados para

ajustarse con abertura angosta.

<>

LV

Ahora, mida en medio a lado del cuadro, corte dos
2" x 4" 's y instale como demostrado, usando los
6 - 3" recubridos proporcionados.

=
Recubridos
)
O O
[E=ry (2nx4n)
& |9
Medida —
_l Agui 1k
Sy P
[E=""m (2nx4u) =]
1

E

Apege un 2 x 2, 24 pulgadas de lago como el
lado picaporte clavado usando los 1/4” x 2- 1/2°
recubridos proporcionados.

— ool
4
.
S | A |
L] Mﬂ L] qu:ﬂ
24 pulgadas
de largo >
Centrado a
medio del g P o <
los Pernos
de ojo @ o
LV
L]
= °
—J

Resbale el lado picaporte. Proporcione al centro loa
agujeros del tubo de extension, deje 1/2” en medio del
lado picaporte del cuadro y el poste picaporte.

|4 | ' | ‘ 5 1l
4 pa- ‘:: l[
ll :‘ l’]
i
=l @ | o=

Ahora instale el armameto de lado del picaporte en el
lado de atras del cuadro picaporte.
/—— Z.Pem.os de 1/4” en esta

el

2 Tuercas de
Nilon de © | anf] Perno de 5/16” en esta
direccion (segundo
o agujero para abajo)
Tuerca y Rondalla
Plana Placa de Alto

0

—

Nota: Recuerde estas puertas siempre se balancean
para dentro. Esto mantiene el aramamento en el lado
de atras de la puerta, fuera de vista de la calle.

Instale el Picaporte. Si encuentra que la barra del
picaporte necesita un pequeno ajuste cuando instale el
picaporte, un pequeno golpecito con su martillo
bastara.

Asegurando sus tablas de cerco al cuadro de
puerta es faci ly divertido.

Deje abertura de 1/2” aqui y aqui para extersion.

pu j >gp___
Cuerda de } “
Pllcaporte ! E.__.‘ f__,]
" | IR Inl ri l
1ol 1ot
' il [
H ' Clavos : 1
fol «=—1—  .0- —1—>lel
H Tronillos H
11 11
1o} tel
' Lt
‘ €73 53
LA N N i t
1 I

Felicitacions!! usted a terminado de

construir una Puerta fina! Para mantenerla
trabajando correctamente para los anos que
vienen, sencillamente aprete -0- afloje las
tuercas de ajustamento como sea necesario.
uste puede re-alinear esta puerta siempre
con una llave medialuna!

Moeva el perno a la izquierda, la puerta se movera a la
izuierda. Arriba y -0- abajo y vice versa!

EIJACION DE BARRERA
DE BLOQUE

Ya sean sus barreras nuevas -0- vigjas, anchas -0-
angostas, este sistema los hace facil para fijar y
construir estupenda puertal

1. Si esta barrera esta siendo construida
sencillamente tome los Pernos de Colgadera
de 5/8” del la herramienta y los perna a como
valla, 35" aparte al medio.

“Empernar Fuerte” (rondallas planas, rondallas de
tranca, en-tuereque por adentro y por afuera del
bloque).

2. Si la barrera ya existe: perfore unos agujeros de
5/8” 35" aparte y usando un pegamento en los
Pernos de Colgadera del Herramienta.

ol mmmg]- .
N Avare

co/mmwm@ﬂ

Si tiene alguna dificulta con estas
instyrucciones,

faita de partes,-o-
encuentra un detecto en el poroducto, por
favor llame a nuestro numero de
asistencia 510-568-8885.

Gatemate


Prinect Color Editor: 
Page is color controlled with Prinect Color Editor:  3.0.53
Copyright 2005 Heidelberger Druckmaschinen AG

To view actual document colors and color spaces,
please download free Prinect Color Editor:  (Viewer) Plug-In from:
http://www.heidelberg.com

Applied Color Management Settings:
Output Intent (Press Profile): CD74 80lb gloss 070605.icm

RGB Image:
Profile: ECI_RGB.icc
Rendering Intent: Perceptual
Black Point Compensation: no

RGB Graphic:
Profile: ECI_RGB.icc
Rendering Intent: Perceptual
Black Point Compensation: no

Device Independent RGB/Lab Image:
Rendering Intent: From Document
Black Point Compensation: no

Device Independent RGB/Lab Graphic:
Rendering Intent: From Document
Black Point Compensation: no

Device Independent CMYK/Gray Image:
Rendering Intent: From Document
Black Point Compensation: no

Device Independent CMYK/Gray Graphic:
Rendering Intent: From Document
Black Point Compensation: no

Turn R=G=B (Tolerance 0.1%) Graphic into Gray: yes

Turn C=M=Y,K=0 (Tolerance 0.1%) Graphic into Gray: no
CMM for overprinting CMYK graphic: no
Gray Image: Apply CMYK Profile: no
Gray Graphic: Apply CMYK Profile: no
Treat Calibrated RGB as Device RGB: no
Treat Calibrated Gray as Device Gray: no
Remove embedded non-CMYK Profiles: no
Remove embedded CMYK Profiles: no

Applied Miscellaneous Settings:
All Colors to knockout: no
Pure black to overprint: yes  Limit: 95%
Turn Overprint CMYK White to Knockout: yes
Turn Overprinting Device Gray to K: no
CMYK Overprint mode: as is
Create "All" from 4x100% CMYK: no
Delete "All" Colors: no
Convert "All" to K: no



Gatemate

BELOW IS A LIST OF ALL
THE HARDWARE IN THE KIT

4-2172" Lags
63 Lags

2- 1/4" Bolts, Latch Bar
and 2 - 1/4" Nuts

Stop Plate, 5/16" Bolt,
Flat Washer and Nut

Latch and 4

‘Wood Screws
90 =30 Nt Wk
@ -% juts an fashers
‘éﬂ 23586 Hanger B
D) A Resament N
@O OO wm—mix] ;

Install the 6” Hanger. Bolts:

If you have a 6" or 8" post, you'll need to also
buy a pair of 10" hanger bolts called HB101.

These gates want to “swing in” always. This
means they will be mounted on the back side of
the posts so, to prevent “side gaps”, we recom-
mend boxing in your posts as shown in the dia-
gram.

FAGE BOARDS; Since these small buildings are
designed to swing in only, inside fence poards
‘called “Face Boards”, must be attached first..They

will give you the same look as-a door in your

home. (They sit on the back s&of the opening

and swing in !soilmm ?
m("i of Fence =

] —1
o Face Boards

" flush with ‘
back of Post——
e

U

“Inside Framing” _— ;/ In}itall the

|1 Face Board
to cover the
L — rail end

and
3 Flush with
back side of

=
j Post

k]

“Outside Framing” t;

THE INSTRUCTIONS FOR SMALL GATE BUILDING

NOTE: If you are installing a Wide Gate and a Small Gate together,
review all of the instructions before proceeding with this project.

Step 1 continued...

Top Rail i

1. Install a face board
on both sides of the
gate opening.

N

Bottom|
Rail

of Post

|

[

|

o

e

bottom rail and mark it
on the face board.

'''' ) 2. Find the center
between the top rail and
| A

3. Measure up 17 1/2"

and down 17 1/2" and
mark.

Note: Holes are 35"

apart.

0
:]:E___L )\ 4. Measure 1" in from
L] the back side of post

Back Side

and drill a 5/8" hole
horizontally through the
face board and post top
and bottom.

Flat Washer
The Adjustment
Nut

Note: Leave 1/2 inck:
of thread for future
adjustment

Locate the HINGE side of the ffame. (Does not
have the two holes for the latch bar.)

Install the Eye Bolts as shown:

|

Flat
‘Washer

v

@‘@T‘ .

"Eye Bolts"

|

==

o

Flat Washer

™ ©) <«—Nut
Use These 5/16" Holes

© ©

I~

Just Snug The Nuts U,
(Do Not Over Tighten)

Hanging the frame
and expanding it to
fit your opening.

[ ] O Ll Drop the Hinge side
3] Eye Bolts down over
the Hanger Bolts.

Slide in both extension tubes (keeping the holes in
a vertical position.)

vV = - a
L
i ©
Note: The expansion 0
tubes may be shortened
to fit narrow openings.
«—
1 i D
L/

Now, measure in between the frame sides, cut
two 2” x 4" 's and install as shown, using the 6 - 3"
Lags provided.

I
Lags
1 oot
="t (211)(4")-
[): I = M
easure —
Ll <" Here > ]|
e
Q:lm-’ (2”X4”) rema]
1

E

Attach a 24 inch long 2”x 2” as your side nail-
ers, using the 1/4” x 2 1/2” Lags provided.

Slide on the latch side. Center the extension tube
holes, leave 1/2” between the latch side of the
frame and the latch post.

A

S

Now install the Latch side hardware on the back
side of the Latch frame.

/— 2-1/4" Bolts in
this direction.

2 - Nylon Insert
Nuts, 1/4"

©

Nut & Flat Washer

e 5/16" Boltin
| s g
(2nd hole downn

Stop Plate

[

—V

Note: Remember these Gates always swing in.
This keeps the hardware on the back side of the
gate, out of view from the street.

S5
¢ | <mmcf o | <
24 Long
rx2r —>
Centered
Between the [y — '+ | <
STEP 9

Eye Bolts

S |0
Fastening your fence boards to your metal
frame is easy and fun!

Leave 1/2" Gaps Here and Here for Expansion

—
J
N ‘ I
,kl N s
i i
(&} 1el
] ! .
i Nails i
Ul Serew il
i w i
[} [
: L".
€73 =TT
=== ——— ! L|
L

Backside of
assembled
Gatemate
building kit

Install the Latch. If you find the Latch Bar needs a
little adjustment when you install the Latch, a little
tap with your hammer will do it!

Frontside of
completed
Gatemate
building kit

Congratulations!!  You have now

completed building a very nice gate. To keep it
working properly for years to come, simple
tighten and loosen the Adjustment Nuts as
needed. You can re-align this gate forever with a
simple crescent wrench!

Move the Bolt to
the left, the gate
moves to the
left. Top and/or
Bottom and vice
versal

BLOCK WALL FASTENIN

Whether your wall is new or old, wide or narrow,
this system makes it simple to attach and build
super gates!

1. If the wall is just being built: simply take
the 5/8” hanger bolts out of either building
and bolt’em in as you go, 35” apart,
centered.

/,

I

“Bolt on tight” (flat washer, lock washer, & nut on
inside and outside of block).

2. If the wall is existing: drill 5/8” holes 35”
apart and epoxy in the 5/8” hanger bolts out
of either kit. .

1]
]

o\ \\ \

Should you have difficulty with these
directions, have parts missing, or find any
defect in this product, please call for
assistance 510-568-8885

Thank you for using

Gatemate

- Your partner for
Successful gate building



Prinect Color Editor: 
Page is color controlled with Prinect Color Editor:  3.0.53
Copyright 2005 Heidelberger Druckmaschinen AG

To view actual document colors and color spaces,
please download free Prinect Color Editor:  (Viewer) Plug-In from:
http://www.heidelberg.com

Applied Color Management Settings:
Output Intent (Press Profile): CD74 80lb gloss 070605.icm

RGB Image:
Profile: ECI_RGB.icc
Rendering Intent: Perceptual
Black Point Compensation: no

RGB Graphic:
Profile: ECI_RGB.icc
Rendering Intent: Perceptual
Black Point Compensation: no

Device Independent RGB/Lab Image:
Rendering Intent: From Document
Black Point Compensation: no

Device Independent RGB/Lab Graphic:
Rendering Intent: From Document
Black Point Compensation: no

Device Independent CMYK/Gray Image:
Rendering Intent: From Document
Black Point Compensation: no

Device Independent CMYK/Gray Graphic:
Rendering Intent: From Document
Black Point Compensation: no

Turn R=G=B (Tolerance 0.1%) Graphic into Gray: yes

Turn C=M=Y,K=0 (Tolerance 0.1%) Graphic into Gray: no
CMM for overprinting CMYK graphic: no
Gray Image: Apply CMYK Profile: no
Gray Graphic: Apply CMYK Profile: no
Treat Calibrated RGB as Device RGB: no
Treat Calibrated Gray as Device Gray: no
Remove embedded non-CMYK Profiles: no
Remove embedded CMYK Profiles: no

Applied Miscellaneous Settings:
All Colors to knockout: no
Pure black to overprint: yes  Limit: 95%
Turn Overprint CMYK White to Knockout: yes
Turn Overprinting Device Gray to K: no
CMYK Overprint mode: as is
Create "All" from 4x100% CMYK: no
Delete "All" Colors: no
Convert "All" to K: no



